PITT Qube SEV-25F-AAA-2

\
/)

®
(O

)

T ®
t 8

NS %4

/2

Copyright(c) KOSHIN Ltd. All Rights Reserved. 2025/01/10 13:36:53



PITT Qube SEV-25F-AAA-2

No. i LLE Mg - HE BRI Eff T

1 011332906  [SE-25X #° ¥7° -2 (KOSHINDT") ADC+vayh |1 5,000
"KOSHIN"O
oA
2 011332503  [SE-25XORA757Y° ADC 1 900
3 011332601  [SE-25X Fvyin 7 NBR 1 800
4 743119032  |MAaMN FiEtaEE&HASNERIL b M6x2 0SW|3 200
RM
5 014801003 [15A7°34° 43 PA155 1 500(PA-155(4971770-102149)
6 011845003 [32A7°34" 43 PA157 1 800|PA-157(4971770-102163)
7 011025613  [SE-25 73Y9° 7" 34 9b ADC 1 3,700
8 011025511 [SE-253@&= %DC-?JDIiE 1 2,500
0
9 012008101  [SE-25FH yA°3 ADC 1 1,500
10 011011401 [SE-254UA°F5REET v & v — BSP 3 200
11 011427707  |SEG-25X-A0 n/h b STKM £U# |1 2,000
12 012201403  [SEV-25F-AAA-2 821K FhOY7 4L 1 200
13 012201505  [K35-A4-P IV Y (LLUEAK{ESR) E{/r JUHEN |1 0
14 [011068504  [SE-25 xhzhly-I BEH 1 3,500
791¢ 16
15 890255031 |0Yv4° 1517-31 1 300
NBR
16 889855042 |0Yvy° P42 NBR 1 200
17 743119045  |MAN FILREEHEASAT Vb M8X20 M8x20 2 200
SWRM
18 734532057 |[NATNRNRIL b M6 x4 0SC |4 200
M
19 854255006  [-W7v¥+ ¢ 6 4 200
20 011257602 |SEG-251°47°7° A NBR 70° 4 200
21 012705902  [SEV-25F A" -243 (HEY) SE L2 1 1,800
NO.600
22 034812401  [SM-25 #y7°Y»9" 93 PAO7 25mm £ 1 900|PA-07(4971770-341111)
Copyright(c) KOSHIN Ltd. All Rights 2 2025/01/10 13:36:53

Reserved.




PITT Qube SEV-25F-AAA-2
No. i LLE Mg - HE BRI Eff T
23 034006501 SM-25 1977 Y7y vy CR 1 300
24 034078201 SM-25TT DFZy7° I ABS 1 300
25 034078101 SM-25 197 )vy° ABS 1 400
26 011819301 SE-25 Abhb-1-93(32Y3Y) 1 1,100
27 034078401 SM-25 25X1545/3297° b ABS 1 300
28 034078301 SM-25 25X20TT DF297° I ABS 1 300
29 940019032  [Fi-anN" VN ¢ 32 632 3 200
30 940019022  [f-an"Vh ¢ 22 622 1 200
31 940019026  [f-an" Vb ¢ 26 26 1 200
32 743119046  |MAN BIETRESHEANEF b M8X22 M8x2 2 2 200
SWRM
33 743119043 MAN FIE R ES A SNE R b M8x16 2 200
SWRM

34 011383705  [SE-25MR A HR—2R 1"x3 m 1 4,500
35 011848001 SE-25 9v9yF897° Yy 93 PAOT1 1 3,600|PA-11(4971770-100060)
36 011380301 BARYY AR PBT-G15% |1 900
37 011402801 BADYIAAERN 93Y(25/MM) NBR65°£5 |1 500
38 011748901 SE-25 #h0y)TT DFH3 b -f 1 1,800
39 011380701 BADYIN &Y (IN ) NBR.HS70 |1 500
40 889855040 |0Y»%" P40 P40-NBR 1 200
41 889855018 |OUv¥” P18 NBR 1 200
00 012201704  |SEV-25FHEXikERAAE A4 P16 1 400

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:36:53




PITT Qube SEV-25F-AAA-2

[TV VERTEFEICDNT]

*RTMEEA—HD—RECTY, CRIOBSITEDREICEHL T 3 v TNRATY MEANTLREL,

[TV IV B#ORRICDOWVNT]

KOSHIN =25
[T 8X-SHi RRBEMRTE]
IYUVBRE, UILNRS—5—BOS K& THES LT,
IVUUERETRESECANTILE 0,

24 2T 22 I (K25 - KC22 - KC26 )

OH LLIFQDINIVEBRBLTLIEEL,

(494 2T P YI(K25 - KC22 - K6 D TV )

¢ K100
¥ A1301002345

©

Copyright(c) KOSHIN Ltd. All Rights Reserved. 4 2025/01/10 13:36:53



PITT Qube

SEV-25F-AAA-2

eeeeee

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

No. mE SREZ G - ME BRI EfM S
1 100144001  |K35-1 %47 L¥- (020500203 [1 3,900[12 & &
05)
2 700084202  |K35 71-Th)§-y\" 47° L=130 0104001007 [1 200|L=130
0) PVC
L=130
3 700084302  |K35 71-TWV 17" L=210 (070400100 [1 200[L=210
62) FKM
L=210
4 100084401  |K35 I YIU741%- (020501200 [1 200
02)
5 100084501  |K35 %17 V-1 AIvk (020700100 [1 200
70)
6 100027901 |[KC26 R/ KM5°20 (03)0100100 2 200|M5x20
62
7 700084601  |K35 17y1b-4- (020201607 |1 500
18
8 100084701  |K35 {791b-§-COMP (021100302 [1 900
17)
9 100084801 |K35A4 > al—9—HBRT v k (02)0700100 1 200
91
10 |100084901 |K35 700X v k (020800300 [1 200
16)
11 |100085001 |K35 AL k M5*10 (030200200 |2 200|M5x10
18)
12 |100194801 |KC22 7° 547 v7° (02)0600100 1 200
73
13 |100082701 |K35 2 U—F —H/3— (700300402 [1 500
13)
14 |100082801  |K35 74M%- (020900100 [1 400
50)
15 |100082901 |K35 RJL FASSY M5*70 (03)0200200 2 200|M5x70
50
16 |100083001  |K35 799%- (020201603 [1 200
85)
17 |100083101 |K35RU—7 (020201602 |2 400
73)
18 |100083201 |K35 Fa-Jui - (02)1100302 1 200
18
19 |100083301 |K35 Fa-) (021100302 [1 200
15)
21 |[100083501 |K35 7 —H—/"14 7 (613600100 [1 200
33)
22 100083602 |K35351N -7° 39 (02)0800500 1 500
06
23 |100083701 |K35 Fryin b7 7" Voh (020201602 [1 200
56)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

No. mE & g - ME ERE  Eff S
24 [100083801  |K35 4N -/7° (7092)1 100300 |1 200
25  |100084001 |K35 RF v 72 2092)0200400 1 200
26 |100159301 |K35 4)-F-K 7 (2022)1 100303 [1 700
27 |100159501 |K35 I7-24-Fr0% (1022)0800400 1 200
28 100159601 |K35 Iv¥ yAIER Y -4 8021)0400100 1 900
29 |100028401 |KC26 & bk M5*16 Dvh)7Fv% (030200200 |2 200[M5x16
27) DuhITUE
30 [100083901 |K35# Wk M5*20 (1023)0200200 2 200[M5x20
31 [100089001 |K35 KC26 2§-4- 2082)0500701 1 1,900
32 [100088901 |K35 A& —kU—Jb 5052)0501 000 [1 500
33 [012220301 |K35 VW5~ b/ ER - B EE 1 200
34 (100195101 |K35 #-A0U97° 6 7.5 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:36:53




SEV-25F-AAA-2

PITT Qube

221))
NO. 13~16%&5¢;

RELOR-

2025/01/10 13:36:53

Copyright(c) KOSHIN Ltd. All Rights

Reserved.



PITT Qube

SEV-25F-AAA-2

Mg - HE BRI Eff

1 100085101  |K35 # Wb (030101101 200|M5x16
30) M5X16
2 100311201 |K35v Uy & —Hh/"—t v ~ (503400100 900
21)
3 700085301  |K35 I YUVEN b-5- (02)0201 607 500
23
5 100085501 |K35 9Uv5 -AN -1 Afoh (020700102 300
21)
6 700087501 |K35 A -47° 55 (CMRGA) (031300200 900|CMRGA
01)
7 700085701 |K35 0y h—FE> (02)0201400 200| ¢ 5x31.7
14
8 100159202  |K35 9% - 8,200|SEV-25F-AAA-2 8
9 100087401 |K35 MW7 (020800400 200
03)
70 |100085101  |K35 & W} (030101101 200|M5%16
30) M5X16
71 [100089101 |K35 V¥ (020200400 200|0.6x6
01)
12 |100089201  |K35 MW 47° (020300100 400
04)
13 |100089301  |K35 & -F (02)03001 00 200
05
14 [100089402 |K35 J-F (020201100 200
08)
15 |100089501 |K35 & - (700700800 300
16)
16 |100089601 |K35 & W} (03),0100100 200|M4x10
43
17 |100089701  |K35 AWI-A A7k (020700101 500
72)
18 |100089801 |K35 WA (700700800 700
71)
19 |100089901 |K35 & W} (030100100 200|M5x35(8.8)
71) M5*35
20 (100090001  |K35 AW - (700300600 200
04)
21 [100090101 |K35 4 Ahvh (020700200 200
15)
22 100087601  |K35 77AN ARVUYY (02)0200200 400
31
23 100087701 |K35 thyk & AVV7 (020200200 400
32)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

No. i LLE Mg - HE BRI Eff T
24 100087801 K35 741 IL—ib g032)0200200 2 300
25 100087901 K35 #4WYv5° gO42)OZOOZOO 1 300
26 100088001 K35 EX bV %042)01 00200 |1 1,200
27 100088101 K35 =— RILRT7 YV (5003)0900200 1 400(10x14x13
28 100088201 K3 EX bV EY 8012)0200100 1 200
29 100088301 K35 t°ahvyvy” (1042)0200300 2 200
30 100088401 K35 # 1 JLo—IL12*32*6.5 (2083)1000100 1 400(12x32x6.5
31 100088501 K35 ahv2°Yvy° 8093;1 200200 |1 200|26x33.6x1
32 100088601 K35 %- E)O'I:§0700200 1 200
33 100159101 K35 43759%7h 55052)0201 201 1 5,200(7" 7979 I R
34 100088801 K35 7 1 L2 —JL10*20*5 8013;1 000100 |1 300|10x20x%5

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

10

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

RELOR—CD
NO. 8I[c&%h5

eeeeee

11

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

No. ES m W% - B B EfM e
1 1000858071 K357 v KTy b 2083)0300700 2 200|M5X0.5
2 100085901 K35 7° yyanyp -4 (1092)0201 400 |2 200|5X10
3 100086002 (K35 Avh- g072)0201400 2 400
4 100086101 K35 Fv>amOw R (1082)0201 400 |2 200| ¢ 2.5X67.3
5 100086201 K35 F7v>aOy RRY—7 gJ_IZ)OSOOZOO 2 200
6 100086301 K35 Y75~ (1052)0201400 2 300
7 100086401 K35 Y79-t°v (10620201 400 |1 200| 9 4X15.7
8 100086501 K35 hAL&F¥ T+ 7 b (104330600300 1 300|¢ 5X21.6
9 100194001 K35-B HALFT %092)1 100303 |1 1,400
10 100086701 K35 #4 £ An" =5" 2y b g)_IZ)O7OO1 00 |2 300
11 1000868071 K35 %4 KAH/N— 5175(30701 100 |1 400
12 076006701 EBC-26C/ Ay {45 b (0307100800 |3 200|M5x14
04) M5X12
13 100087001 K35 T¥YV—RNJLT 8052)0201 400 |1 1,000
14 100087101 K36 4 v F—0/\L7 8022)0201 400 |1 1,000
15 100087202  |K35 N W77 A7°Uvy” (6042)0201 101 |2 200
16 100087301 K35 27°Uv9” -4 8082)0201 400 (2 300
17 100092501 K35 ¥77-h" A5y b (2022)07001 02 (1 400
18 076006701 EBC-26C/ Ay {45 b (0307100800 |1 200|M5x10
04) M5X12
19 100164102 |K35-B v77- (5072)05001 02 |1 4,200
20 100164201 K35-B v75-Hn" - g082)05001 02 |1 600
21 100092801 K35 v75-40" - b M5*5 %03:301 01101 |1 200|M5x5
22 100092901 K35 RJL b M5*55 (7073)01 00100 |2 200|M5x55 (12.9)
Copyright(c) KOSHIN Ltd. All Rights 12 2025/01/10 13:36:53

Reserved.




PITT Qube

SEV-25F-AAA-2

eeeeee

13

2025/01/10 13:36:53




PITT Qube

SEV-25F-AAA-2

No. mE SREZ G - ME BRI EfM S

1 100090201 |K35 754 k4 —Jb (020500302 |1 2,400
02)

2 100090301 |K354 /=v> a4 (020500301 [1 2,700
86)

3 700073301 |[KC26 & Wb (030100800 |2 200|M4x20
10) M4X20

4 100090401 |K35 74¥-,COMP (020500502 [1 300
52)

5 700090501 |K35 7 v & v — (030400100 [1 200
12)

6 1700090601  |K35 AJL Kk (030100700 [1 200|M6x12
24) M6X12

7 700090701  |[K35 SPRING WASHER (030500100 |2 200
08)

8 700090801  |K35 AJL Kk (030100200 |2 200|M8x25
06) M8X25

9 700090901 |K35 >+ 7 (02)0200901 1 4,200
22

70 |100091001 |K35 R7 1 » 56202 (030900100 [1 400
18)

11 |100091101 |K35 754 A — LA/ "— (700700300 [1 1,800
37)

12 |100082601 |K35 RJL FASSY (030200300 [1 200|M5x12
17) M5X12

13 [100085101  |K35 & I} (030101101 |4 200|M5x16
30) M5X16

14 |100024701 |KC26 7 549k (020201606 |1 200
23)

15 |100025602 |KC26R k¥ 7R A v F (02)0500502 1 400
51

16 |100028301 |KC26 & Ik ASSY (030200200 |2 200|M4x10
09) M4X10

17 |100091201 |K35 75 XF v /<y RL X (021100300 |3 200
50)

18 [100091301  |K35 7-Th4v) (8(;0300500 1 2,100
04

19 |100266101 |7 nAv2 (020800300 [1 500
78)

20 |100091601 |K35 AR~ v k (030400100 |3 200
10)

21 [100091701 |K35 RJL K (030200200 |3 200|M5x25
34) M5X25

22 100091801  |K35 §75%¥y7° ASSY (021100200 [1 400
50)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:36:53







PITT Qube SEV-25F-AAA-2
No. mE fh Mg - HE BRI Eff T
1 100093001 K35 7° 35 an - (2082)0800201 1 500
2 100093101 K35 o) & —H\— (97800300307 1 1,100
3 100093201 K35ty M6 (106%O3OO7OO 1 200|M6
4 100093301 K35 avha-mf-7" (7012)0500401 1 200
5 100093401 K35 A0y Mbn” - (2092)0501 900 |1 300
6 100093501 K35 # Wb M5*20 g031§01 00600 |1 200|M5x20
00 076012401 EBC-35C 7° 37" \v# (1093)0800300 1 400
00 100097001 K35 24U v b %»78(308001 01 |1 800

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

16

2025/01/10 13:36:53




